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General Instructions:

1. The question paper comprises Six Sections — A, B, C, D, E and F. There are 37 questions in
the Question paper. All questions are compulsory.

2. Section A — From questions 1 to 20 are MCQs of 1 mark each.

3. Section B — Question no. 21 to 24 are Very Short Answer Type Questions, carrying 2 marks
each. Answer to each question should not exceed 40 words.

4. Section C contains Q.25to Q.29 are Short Answer Type Questions, carrying 3 marks each.
Answer to each question should not exceed 60 words.

5. Section D — Question no. 30 to 33 are long answer type questions, carrying 5 marks each.
Answer to each question should not exceed 120 words.

6. Section-E - Questions no from 34 to 36 are case based questions with three sub questions
and are of 4 marks each. Answer to each question should not exceed 100 words.

7. Section F — Question no. 37 is map based, carrying 5 marks with two parts, 37a from
History (2 marks) and 37b from Geography (3 marks).

8. There is no overall choice in the question paper. However, an internal choice has been
provided in few questions. Only one of the choices in such questions must be attempted.

SECTION A
MCQs (20x1=20)

1.How was the Rowlatt Act of 1919 perceived in terms of fundamental rights and civil
liberties by Indians? 1

1919 & ol Tae &I ARDET o FHifoes VR 3R aeRe Tadaar & deo &
frg gr ga@nr

(A) It was viewed as a regressive legislation in favour of the majority Indians. /3'@ W
)

AR & 98] H Teh YA &lefel & &9 H 3@ 10




(B) It was considered as severely curtailing the right to personal liberty. /5@' SATFAITT TaAA

& PR H 7THR T F Feldr s IraT AT =T

(C) It was seen as a necessary measure to prevent communal tensions. /3'\'-7 S TAIEIC

T T Uehed & TAT T 39T 39T & FT H @I AT AT

(D) It was regarded as a safeguard for protecting British soldiers. /Sﬁ fafeer afaer $r
et & foIv Teh GET 33U & &7 H AR ST AT

2. Study the pie chart below and answer the question that follows: 1

AR RU a1v Ui A &1 eI W 3R Aefaf@a uee & 39X 8

. Plains

- Mountains

D Plateaus

Land under tmportant Relief Features

What is the significance of 27% of Plateau region?

TSR &1 & 27% HET &l AT Hgcd o?

(A)It provides facilities for Agriculture / Jg Eljﬁf & foT ﬂﬁﬂﬁ geTeT il &
(B) It has fertile soil cover / SHH 393 fHCET &l 30T g

(C) It possess rich reserves of minerals/sﬂﬁ Gfasr &1 EF:IDT 38R %

(D) It has perennial water flow/sﬂﬁ IREAT™E! STl Jdig %’



3.Under the sustainable development goals, social equality with regards to access to
resources is one of the most pressing challenges. Accordingly, which of the following crises
is related to the statement above? 1

Wma&ﬁaﬁ%ﬁ,mﬁwq@%mﬁmﬁmmm
IR AT F F Tk ¢ deodR, Refaf@d & & @l a1 dehe IRTd HY
o gafaa g2

A. damage to infrastructure due to floods/ dT¢ & HROT ﬂﬁ'ﬂ'ﬁﬁ e &l o &le]
B. scarcity of clean water for consumption /3TN & ToIT T Sl T HaAT
C. damage to crops caused by heavy rains / R STRLT & ®HAT T §3—1T o &lel

D. combating water borne diseases in rural India / JTHIUT ART H JTT Alald SIATRAT T

REGI

4. Match list | and Il and select the correct answer using the codes below in the lists: 1
gl 13k e e 3R gt # AR e aw @5 #5139 & wE 3w
ol

R

LIST | LISTII

1.Reserved i- North Eastern States/3TX

Forests/3TRT&Id aeT adf 5T
N

2.Protected forests/ | ji. Andhra Pradesh/ 3Tier

e aef geRr

3.Unclassed forests/ | jii- Haryana / gR2TOM
3—]63“3’38 dol

Options:

faeheT -

(A) 1 (i), 2 (i), 3 (i)
(B) 1 (iii), 2 (ii), 3 (i)
(C) 1 (i), 2 (iii), 3 (ii)

(D) 1 (i), 2 (i), 3 (i)



5. Chipko Movement with respect to conservation of forests is an example of 1

gell & TXETUT o T H Ul igield SH&T Th 31807 ¢
(A) Government sponsored programme /3R JRAIToTd &I
(B)Community participation /'FI'W EIENTARY

(C) Government & Community initiative /I3 Td Flﬂ?\'lﬁ? el

(D)NGO- led programme / TaiI31 & ﬁqtd arell HTA%HH

6. United States Of America is an example of True Federation. Which route of Federation
they have opted for ? 1

HIFd T AT Hifher Heale & Teh 3GT6IVT ¢ o610l HEdIG T el AT
T ol &2

(A) Competitive Federation /Afaeadf g
(B) Coming together federation /Teh TTY 31T HGHY
(C)Holding together federation / g &r UcholC TYeTT

(D)Cooperative federation / FI'E’EF»ﬁf H?I"HEI

7. Which of the following statements accurately describes a “community government”? 1

i. ‘community government’ is elected by people belonging to one language community —
Dutch, French and German-speaking — no matter where they live.

ii. This government has the power regarding cultural, educational and language-related
issues.

fFrfaf@a & @ i a1 Fua "qeeRe WaR" w1 Td quld ST §?

()ETHCTRI HXHR T AT Teh ST FHATT - S, el 3R STHAT-TS - & ol
SaRT R STaT &, 91 & SE o e &

(if3F TIHR & I FiEhicsh, a0 A A1 Faeh Heal 1 o Aafed gl
(A)Onlyi/Fa i
(B) Only ii / Fa i



(C) Neitherlnorii/aﬁﬁﬁéﬂﬁ
(D) Both i and ii / AT i 3T i

8. Sumanhas taken credit to make shoes during the festive season. Choose the correct
options that defines the importance of credit from the given options: 1

i. it plays a vital and positive role in meeting his target and accelerating his income
ii. the credit helps him to meet the ongoing expenses of production

iii. the credit helps him complete the production on time

iv. it helps him in exercising restraint and get into the habit of taking more credit

A & ARRY Wofel & R S[d oo & o ®or forar g1 fev v fashedt &
8 KUT & Hgcd I IRHAMNA el dlel Tl fdehed o

(I)TE 3eTeh of&T I YA el 3 3oTeht 3T 7 dAsll ol F FHgeaqun 3R
ThRIcHS AT fsmmar &

(il)0T 38 3cUlesT & Il ¢ Tl A QU A H AGG Al §

(ili)hfST 38 FAT W IcUlee] qU FaA H HAeg Hidl ¢

(ivV)3H 38 FIH s 3R 318 FHOT o T e STl & FAeg Aadr §
(A) Only iv/ hdel iv

(B) iii and iv /iii 3R iv

(C)i, i and iii / i,ii 37

(D) Onlyii/ ad i

9.There are two statements given below, marked as Assertion (A) and Reason (R). Read the
statements and choose the correct option. 1

Assertion (A): Power sharing can help to prevent conflict in society.

Reasoning (R): Power sharing ensures that different social groups are included in decision-
making processes, reducing marginalisation and fostering inclusivity.

T g e feu v § S 3if@saa (A) 3R #RoT (R) & &0 7 Rfgaa fear
IRT B YA AT 4G IR FE fAeheT T |

IfAFUA (A): TAT FT ASERT F TATS H TGY I Adhed H Ace [Fel T &l



SROT (R): Tl T AR Tg FARYT Xl & o A= @i aeggh
Aot o=y &t ufshansit & enfaer fovar s, gifRe @ ae & & forar sTe ik
ARAGT F ST AT AU

(A) Aistrue butRisfalse./ A IcT § W R ITeid §
(B) Ais false but Ris true./ A 3lld § W R T &

(C) Both A and R are true and R explains A. / &l e § 3R R, A $I JarsarEar sidar
g

(D) Both A and R are true but R does not explain A / Sl T g9 R, A &1 Tgr

SATEAT sTal hdl
10. ldentify the correct feature of Unitary form of government from the following options:

oA QT a0 fasedt # ¥ Thel YUl THR & {EY 0T &I GgaTaIT ? 1

(A) There are two or more levels of government /GX&R & &I AT &I § FITGT TR

B &

(B) Different tiers of government govern the same citizens /37137 3719 TIPR & EAX

geft ArReT 1 affa a<a §

(C) Each tier of government has its own jurisdiction / ¥ (&R & TAX &l 9T

ERIT g §

(D) The sub-units are subordinate to the central government / 39 EWBTIT T TIHR
o 3efeT T T §

11.A multinational company (MNC) is a corporate organization that owns and controls
production in more than one country. Accordingly, which of following countries has the
BEST potential for an MNC to be set up? 1

WM(W)WWW%ETW@W&%ﬁﬁWW
Faffca R 01 et §1 deelar, fReafaf@a # @ fre qor & Mnc wifaa
Fel HT GIH 37T GATIAT g7




(A). Country W has a rich culture and ample biodiversity./a'QT wWH W 14?—_1?% 3R
TR Sta fafaudr gl

(B). Country X provides loans to foreign companies easily at high interest rates. /Eiw_cff Uy
et Fufral & 3T ATeT & WX 3T 8 FOT UGled hdl gl

(C). Country Y has an educated workforce ready to work for affordable remuneration. / 2T
Y & g U Rfed sied & 3 Feradr aREf@s ) a1 s & @ R
gl

(D). Country Z has a rule which allows people from a specific religion to conduct business
freely /327 ZH T g § S v fAfAse 4af & oo & Todd &7 F IUR
FLe HI AT & §

12.Indian Federation is not like USA but it has both the features of federation and unitary
character. Which of the following statements corroborates this? 1

AT HG G Tod ARG H e g1 § olfehed 3HH HY AR TohreAs TR
alst T fAAVAT g1 PEfaf@a & @ @l &1 wue sEh qive e g?

(i) A number of languages are accorded scheduled languages in our constitution/ §AR

AT 7 % AW T AT 39T T &l fem arm g

(ii)lSome Emergency provisions are included in the constitution / g3 I IGEIGIG
graeTeT giawre & enfaer §

(iii)States are under the administrative control of Central government / a3 g TIPR

& garafas FaFor 7 §

(iv) Governor of the state is appointed by the President / I3 & Tqg9Tel &1 ﬁ'{[%cf
Ieeafed GaRT hr ST §

Options:
e :

(A)Only i&ii



13.The Indian masses willingly participated in the Civil Disobedience Movement, despite the
challenges faced during the Non-Cooperation Movement. Accordingly, which of the
following quotes BEST reflects the outlook of the masses? 1

EGANT JTelelel & eRTeT 3T arell IAAAT & STasfe, HRAT ST o FawoT 4
AfAera 3@ 3nieleled # 771 fodT| deefaR, fAw=ifafegd & @ sl a1 3eeror
SIdT & ToehIUT H Fafad & § AT &2

(A) 'The greatest glory in living lies not in never falling, but in rising every time we fall' / 'Sflet

T I 991 ARRAT FI T O F 7§ afer g IR R 3o F

(B) 'An eye for an eye only ends up making the whole world blind' /'3 & Scof 3@ &l
Aol G gfear T 3T ST g

(C) 'Injustice anywhere is a threat to justice everywhere' /Eh_eﬁ Y T Y S Iy

& O @R §

(D) 'Obedience is the key to a peaceful society' /3TATRIAT Ql’iﬁc‘l'\Ugf AT T sﬁrﬁ 3

14.In Indian Economy, the three sectors (Primary, Secondary and Tertiary) are
interdependent. However, the share of employment in the primary sector remains high.
Most appropriate explanation for this could be: 1

AR Jrdcaaedr #, A &1 (Jrufds, Areafas AR Ide) thgay W R
gl aaﬁ,mmmﬁﬂwﬁ%mﬁﬁaﬁgé%lmﬁvm
3YYFT TISERIOT TE B Tehll &

I. Government policies preferentially treat the primary sector / TR Afaar grafAs a7 & r
TATHDAT Sl &

II. Indian economy is largely agrarian and majority of population is dependent on agriculture /

R 3iegaedl Eaa: $¥ gue § 3R AR Saaear $i¥ T @R &



lll. Inadequate service sector jobs force people to continue working in primary sectors /@Tﬂ aT &
3aied AHRAT 1T A i &=t 7 H1H T TR WA F AU AT A

IV. Primary sector provides raw material for the secondary and tertiary sector. /QTW aT

gfadiaes 3N e & & v HTar AT 3Tels HIdl &

Choose the correct option:

eI [ahed &7 gora A

(A) Only I and Il are true /&hder | 3T I

(B) Only Il and 11l are true/ aaer 11 3R 1l
(C) Only Ill and IV are true /&ael Il 3T IV

(D) All are true / T TET &

15. Gemini isreading an abstract written by TarabaiShinde. Which of the following is
MOST LIKELY to be the central issue of this text? 1

Siffer armEs R garT fof@a t& ar g5 W) & Aeafaf@a & @ #ia a7 57
UIS T 1T Heal B I T 3 FHIGT &2

A. religious indoctrination by priests /gGiTﬁ?ff GEIRY i 3ucer
B. miserable lives of farmers in debt / @ol & 5\? fharer &1 g SiaeT
C. plight of upper caste Hindu widows [Far St %’q; feraratt &r chIQIT

D. exploitation of children by factory owners /ﬁ"ﬁ@' ATforhl =EIRY gTdl & AYoT

16.Which of the following statements is not true about Democracy? 1
dichdd & aR # Aeafaf@a # & Fid a1 FUT T 767 ¢

(A) People wish to be ruled by representatives elected by them. / ST 39T IR ?:Iff eIy
gfafafal garr enfad g @mga g

(B) It is free of corruption./ g HSCTAR re) Hard %I



(C) It is expected to produce good governments. / sﬂ?}l IS W I T 3FAIE

gl
(D) Guarantees rights of citizens. / sTTIehl o TURRI I IMRLT ST gl

17.Here are two statements marked as Assertion (A) and Reason (R). Mark your answer as
per the codes provided below: 1

Assertion (A): It is often said that political parties are facing a crisis.
Reason(R): They are very unpopular and the citizens are indifferent to political parties.

g7 ar YA AfFAFYT (T) 3R SROT (3R) & & & AT &1 S fgw v F:g
& 3TEN YT 3R RAEAT AL

ITAFYT (A): IHFE TE FaT ST § b Toleilicdd gl Hhe T AT T I &l
FROT (R): § 95 3l § IR A9RE TN gef & 9fd e &

(A). Both (A) and (R) are true and (R) is the correct explanation of A /(A) 3R (R) =it
g g 3R (R) ,A &7 TET TISEE0T &

(B). Both A and R are true and R is not the correct explanation of A./ A3 RaT T¢I &
IR R, AFr Ty arEar AT Har B

(C). (A) is correct but (R) is wrong / (A) Tgr § offehel (R) Teld &

(D). (A) is wrong but (R) is correct / (A) ITeld & oifehel (R) T&l &

18.Identify the reason as to why MNC’s would like to collaborate with India in producing
goods. Choose from the appropriate statements among the following options: 1

SH HRUT T 9gdrT &Y b agTr&‘@'cr FYfAAT AT & 3cUlead & IR & YT
TEANT FAT AT el | AFATAET fahedl H @ 3uYFd FYAT FT =TT L

i. India has highly skilled engineers who can understand the technical aspects of production.
/AR A TS AT SoMAI & ST 3cUTeed o Aeheliehl TgeI3T I THS Fehd
gl




ii. It also has educated English speaking youth who can provide customer care services. This
means 50-60 percent cost savings for the MNC. / 39 ffeid 313<ir Sidel aral gar ar

& S ITgsh [aT [T el FT ohd &1 SR Aded %%deﬁﬁ%
foIT oeTd & 50-60 wfderd & sad

iii. It’s the cheapest manufacturing location. /Jg TS T&aT AfAATOT T gl

iv. It’s close to the markets in the US and Europe. / Jg AR 3T ”{{’I’q & TS T &
FUT &l

Options:

ICETosk

(A). Statements i and ii are appropriate. / & | 3 I 39gFd gl

(B). Statements i, ii and iii are appropriate. / T i, ii 3T iii 39ged gl
(C). All the statements are appropriate. /&3 T 3Ra %

(D). Only statement iv is appropriate. / Shdel AT iVB'CI?EI;q'?T gl

19.There are two statements marked as Assertion(A) and Reason(R). Read the statements
and choose the correct option: 1

Assertion(A): In India Literacy rate among Women is significantly lower than among men.

Reason(R):The Patriarchal system in India gives more value to the education of the heir who
carries on the family name.

QT &l YA fFRYA (A) 3R FROT (R) & T # RATAT g1 @ T 710 g &
3TAR YT 3R R &

HAFRYA (A): 9RA H ARG & ey FIERAT eI GRS I Jolell H AT HA §

ROT (R): R # NAJEdcAs FaEdT YRR & ATH HT & Tl dlel
IS i e w1 31¥e Agea oY &

(A) Ais true butRisfalse/ A I § W R 1eid ¢

(B) Ais false but Ristrue / A Teld § W R & &



(C) A and R are true and R explains A /A 3R R glar T@@r g 3R R, A &I Tgr saream
LT &

(D) A and R are true but R does not explain A/ A IR R H@f%’ 9IR,A $r Q:I'{?f SgTEd]

EHETGI

20.Consider the Statements below and choose the correct option: 1
Statement I: Religion and politics go hand in hand.

Statement Il: Communal feelings flares up when Religion make inroads into the politics.
AR fQT 9T HYr W AR S AR @@ Ao o

YA |: €7 3R AT ATT-ATT ToId g1

FYT |I: SIS GH TSTAITd H JAA HIAT § A WY HATGAT H5h 35 o

Option:

fahe:

(A) Statement | is true but Statement Il is false/ &l | TET § IR I ¢
(B) Both the Statements are true / gl AT Tgr %

(C)Statement | is false but Statement Il is true / &I | ITld § 9T Il TET &

(D) Both the statements are false / gl AT Id §
SECTION B
VERY SHORT ANSWER QUESTION (4x2=8)

21.Agriculture and Industry are complimentary to each other. Justify the statement with
relevant examples. 2

T 3T ITANT TF A 6 TH & 139 FA 6 I g0 afed #2 |

22.‘All through history, human societies have become steadily more interlinked.” Justify this

statement with illustrations. 2

¥ fAgT |, AT THTS AT ATerF O § 2 g0 &1 39 FHAF HI ST F 61T
THTIorT Y

OR / &rrar



Food has travelled through distant lands. How food has lead to Cultural inter-mixing ?
Substantiate your answer with example.

YIS = g <=M DI AR D1 g | HISH o THR TR SAfHY0r &1 S <l g2
JERU Iigd 30 ITR DI B BN |

23. Distinguish between Federal and Unitary form of Government. 2

AR b THY 3R THTHD WY b S 3 TP DY |

24 .Panchayati Raj Institutions are the key to Grass root Democracy. Justify the statement. 2

G IToT TRATE STHIAT Aehaid Dl ol § | B o1 3iifac g S|

SECTION C
SHORT ANSWER-BASED QUESTIONS (5x3=15)

25.Provide evidence to support the claim that print culture helped in the growth of
nationalism in India. 3

39 214 BT AT B & forw I va &3 & e Ipfa 7 yRd # yarg & fasg o
A Dl |

26.Read the statements given below regarding Indian Railways. 3
Statement 1 (S1): Indian Railways has largely been a Public Sector Enterprise.

Statement 2 (S2): Private players are making an entry into the Indian Railway market.
Explain what trend do these statements - S1 and S2 - reflect in the railways sector in India.
YR ¥ad & e¢ # A T sy dl ug

FHYF 1 (TH1): HRAT YA BT 8¢ db U ITdui-1e & BT ITH T 3|

HYF 2 (TH2): ol 85 YR Yed SoR A o R W & |

JAU A HYT- 51 3R 52 - HRA A XAd &7 H 1 ygil g2id 2

OR /37947

Which sector, organised or unorganised, is preferable for employment? Explain.

AR & fore T3 d a1 S d I 1 85 S8R §, T HhY |




27.Why plantation farming is referred to as the ‘Interface of Agriculture and Industry’?
Account for the reasons. 3

FIRIAT GAT T FHI 3T I FT ZeTHE FI7 gl STAT g2 HILI T [9a<07 o0

28.In politics, the focus on caste sometimes give an impression that elections are all about
caste and nothing else. Justify the statement. 3

RS , ST TR T dhisd ®R 4 -t 98 SIUT i § fob I1a dhad Siiid &
IR B 3R B Tt HY BT NI Rig Pl

29.There has been a big change in the three sectors of economic activities in India but

similar shift has not taken place in the share of employment. Explain the above statement
with relevant facts. 3

YRd B 31 Tiafafial o i &l & 91 Saad g g o JASHTR $I [gRGR! § a
GG Ta! g3 8. SIRITd B DI TR 9 A TF HIfoe|

SECTION D
LONG ANSWER-BASED QUESTIONS (4X5=20)

30.Analyze the measures adopted to prevent soil erosion. Enumerate the natural factors
which lead to soil erosion. 5

&1 3URGH DI b+ & [Tl ST 7T IURT T fARANUT B¢ | 39 Wbl R bl
TOMT X S HaT 3ORGH &I BRI S & |

OR /4T

“There are many ways to solve the problems of land degradation.” Substantiate the
statement with illustrations.

YA x0T &1 sl 1 6 IR & Bs delh & | SaIeRUl ¥ied HYH &1 g Siforg|

31.'Language is power, life and the instrument of culture, the instrument of liberation.'
Justify the above statement in light of the Nationalist Movement in Poland, Europe. 5

YTNT Y1 &, Sa & STR Up il &1 1e 5, Hfd &1 9L g 1" Uicls, IR1Y H Igare!
3{igiaH & 3MTclidh H SURIGd B &1 gfY Pifory|

OR/ STI4AT

'Importance of culture - art, poetry, stories and music help shape nationalist feelings.'
Justify the above statement with respect to European nationalism.



AP BT T - Hell, HiAdI, HEI-AT 3R Wifd AFATS {11 BT S{THR & H Hag
FA § I YT AFATE & a8 H SWRIFd HYA B gY B

32.Political parties are posed with Numerous challenges in the present World. Identify and
explain any five challenges. 5

i {3y # e e gal & 9ee s Il ¢ | f] uia gfad! &) ugar 8k
.

OR/AIAT

The democratic functioning of Institutions lies in the Strength of Political parties. Analyse
the statement with respect to functioning of Political parties.

T13ff 1 Apdifze SrAyUe IsHifde gal o dided H fAfgd 8 | IsiHifae gl o
HRIYUMCH & Yoy H YU T fazawor &3

33.Business is all about solving people's problems - at a profit.' Explain how banks function

like a business with respect to the above statement. 5

FEETT T AT g AR T THEATHA T THTLTH HLAT § - ATH T STLH HAF o dael |
FAT0 fof S U ST T TG FH HT FHLd Bl

OR / 31741

Evaluate the role of SHG(Self Help Groups) in the Emancipation of rural economy.

T S TaRIT o ST H SHG (X0 TeTadl THE) &1 YHSBT &1 Jedic B |

SECTION E
CASE-BASED QUESTIONS (3X4=12)
34.Read the source given below and answer the questions that follow: (2+1+1)

Emboldened with this success, Gandhi ji in 1919 decided to launch a nationwide Satyagraha
against the proposed Rowlatt Act (1919). This Act had been hurriedly passed through the
Imperial Legislative Council despite the united opposition of the Indian members. It gave the
government enormous powers to repress political activities, and allowed detention of
political prisoners without trial for two years. Mahatma Gandhi wanted non-violent civil
disobedience against such unjust laws, which would start with a hartal on 6 April.

2 U T Hd &1 ug iR Fafafed vyl & Iw ¢:

ST IHAdl ¥ SR g1y, e St = 1919 T URarfdd RUeie Tae (1919) & Radw
ST TATIE YRE B BT hadl [l | YR Tl & Udale faRlY & JIave 39



SHfIfTaH T TRRga afoRaied HTSRIE o ATeH ¥ Sleaaroi H TiRd fordT 7141 47| 394
ISR DI AT TAfAfE o gam ot U Wi &f 3R Iomifde bl ol famr
ol geved o 1 1A doh ORI H X@ I SAfd & | HeTeT Mieht T Sramaquf &gt
& I g AT as argd 3, ! Y31 6 3 Pl gedrd 4 grll|

(i) Why did Gandhiji oppose Rowlatt Act ?/ TiefiSi A e meﬂa@fﬁﬂ'{? 2

(ii)Why did the British Government introduce Rowlatt Act? / EIIESECARE RIS Udc 4t

SIUNERE, 1
(iii)What did Gandhiji do to oppose this Act?/ Tﬂiﬁﬁﬁefsﬂ WW%‘HW%%H
7 fobar 2 1

35.Read the source given below and answer the questions that follow: (1+1+2)

Post-independent India witnessed intensive industrialisation and urbanisation, creating vast
opportunities for us. Today, large industrial houses are as commonplace as the industrial
units of many MNCs (Multinational Corporations). The ever-increasing number of industries
has made matters worse by exerting pressure on existing freshwater resources. Industries,
apart from being heavy users of water, also require power to run them. Much of this energy
comes from hydroelectric power. Moreover, multiplying urban centres with large and dense
populations and urban lifestyles have not only added to water and energy requirements but
have further aggravated the problem.

2 AU T A 1 ug iR Faferfad usi & IR ¢:

TG HRA B 718 TN enRur 3R Qe ur axar 7T, fora gAR ot U S/awR
QT gUI 31T, 53 SHEfiIen TR1 s agRIgia Hufal (Sgrrgia ) w1 shenfis
STl 1 AE Bl 3MH & | ST B IR Fgalt S A Hielal 1S T & TmeHi iR
Ga1d STAHX A B SR o Sear o1 fean § | ST & Ul &1 YR ST & &
3T I T P fort faorelt &t +ff Sirawaerar gt 81 59 Soll &b SHfeepT=r UM
SAfaggd SHoll ¥ AT 8 | SHP SIadl, Fo! 3R "1 STaTe 3R e Sita-=iel ard dgd
YN Hal 7 T B U 3R Fo1l b SRexdl ) TG 8, Ffeds AT H1 3R off iR a1
feam g

(i)Why Industrialisation put heavy pressure on water resources? / aﬁ%ﬂwfrw

T IR R gaTd 1 Sedl? 1
(i)From Where industries get most of the power? / S=ITT &1 srfararter fasreft Eh_&"\f T et
22 1

(ili)How increasing urbanisation aggravated the problem of availability of water? / I&d

LI o ITHT T STASHAT il THEAT I el FET 134T 82 2



36.Read the source given below and answer the questions that follow: (1+2+1)

HUMAN DEVELOPMENT REPORT Once it is realised that even though the level of income is
important, yet it is an inadequate measure of the level of development, we begin to think of
other criterion. There could be a long list of such criterion but then it would not be so
useful. What we need is a small number of the most important things. Health and education
indicators, such as the ones we used in comparison of Kerala and Punjab, are among them.
Over the past decade or so, health and education indicators have come to be widely used
along with income as a measure of development. For instance, Human Development Report
published by UNDP compares countries based on the educational levels of the people, their
health status and per capita income. It would be interesting to look at certain relevant data
regarding India and its neighbours from Human Development Report 2006.

2 feu e Hid &1 u¢ iR Fafeiad usi & Iw &:

T4 fae RO Teh IR ofd I8 UgHT 81 ST § foh Hal &1 311 &1 TR Hedyul g, fiR
1t 78 fIpT & TR &1 TS AT U &, ) §H 39 AFCS! b IR H Tl = HRd
21 WY AFCS &1 U diall Yol 81 Yahdl! g Qi a9 g8 Ia-1 SUTNTt Tl grT | g4 e
eyl 9IS o1 T BT I Te o1 ATl § | TRy 3R e Yahde, S o g0
PR 3R USTE & JaT H SUANT foar AT, S8 I T ¢ | s TTHTT U &1 1, fasm
& TG & U H 31 & T1Y-T1Y WA 3R Rrefl Ghdedh| o1 e &0 J SuAnT faar
ST @1 ] | IaT8R01 & oY, guAs ! gRT USHIRId A4 fasr Ui anTl & 2féie R,
I Wy o1 FRUfT 3R Tifal safa 3ma & MR R =M &1 ga1 el ¢ | A4 fadbr
f¥UIE 2006 T YR 3R ITF TSR & Gaiy T $3 URIAIH 3fichs Bl ol fearay
=l

(i). On what basis the UNDP compares countries on Human Development? / ?Jclﬂﬂéldl EIGES
T = Zert Y QAT o e uw AT 82 1

(ii). Explain Human development briefly. / ATHa T &7 H2rT & 99T 2

(iii). Mention other aspects that should be considered in measuring human development. /

AT T &1 719 | B o7 Tgo@t 9¥ o= BT ST F1ie | 39T Seoid el 1

SECTION F
MAP SKILL-BASED QUESTION (2+3=5)

37.a Two places A and B have been marked on the given outline map of India. Identify them
and write their correct names on the lines drawn near them.

HRd & ST T ST AFE W S RIF A 3R 8 3ifhd fPT U g 3= Uga 3R ITPH
I i 78 Waref iR 3T ot A ford



A. The place where Jallianwala massacre took place / a8 T gl STATATAT ZATHIE gl
2l 1

B. Indian National Congress session was held at this place in 1927 / WWWW
fYAR 1927 U ST ™M IR G3MT AT 1

37.b. On the same outline map of India locate and label any three of the following with
suitable symbols. 3

YRA & I T4 A R Aafafaa A 3 fosl diH - &1 Suged Udlen! & Iqr @isl
3R A B

(i) A Dam built on the river Sutlej /Fast A&t 9¥ AT UF 37
(i) A software technology park in Northern India / 3T 9TXd T e ATFAIL TTh
(iii) Southernmost port on the east coast of India / Tﬁ e g7 Ry =fermaw =+

(iv) A nuclear power plant in the state of Maharashtra / g1 ¥ fRua Teh GTHTI] EEEL
ERE]






